Multiplication Strategies &5

Array
B [%

Row and columns
with an equal amount in each.

iTA 2| I A Bl A6 =

5x3=15
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Multiplication Strategies &R 2

Equal Groups
= A8 R w2

Use the same number of units in each
group.

H LW 2 AR R E AR

5x3=15
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Multiplication Strategies &5

Repeated
Addition

¥ 2 Imik

9+5+5=15
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Multiplication Strategies &R

Number Line
BT &

Hop 5cm at a time.
Where do you land?

R BkEE K, IR B RE?

/\/\/\

O1234567 8 9101112131415

Thopof5=5 5Ltk 1% =5
2 hopsof 5=10 5 Ltk 2 ¥ =10
3hopsof 5=15 5 Lt 3% =15

5x3=15
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Multiplication Strategies xR 5

Multiplication Magic

P kB kL
/\
60 x4

Draw the wizard's hat to find the facts to calculate.
) A )RR F- R 8 7 ik

6x4=24
Multiply the answer by 10/100/1000.
%% 9 vA10/100/1000.

60x4=24

Write your final answer.
IEH R = TE S

60x4=240
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Multiplication Strategies &R

Partitioning
EY R
50+2 agd 30+8

T G R KRR B A ScAadn 2 — A2

50 x 30= 1500

2 x30= 60
50 x 08= 400
2 x08= 16
1976

52 x 38= 1976
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Multiplication Strategies I&i&F5&

Grid Method
_@%ﬁ%

| Draw a grid.
150( 2 | s nmis.
Write the partitioned numbers at
30 the top and left of the grid.
8 TE R A& 69 TR 57 A 22 32 B 73 8 2%
Fo

Multiply the partitioned numbers.
1500 n ‘ : ‘
30 1500 B H T AR

60 Add the products.

16
1976

52 x 38= 1976

28 F AR £ — AL,
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Column Method
— 7| &

52 Write the numbers above each other in

columns.
x 38 R OLET RSO &
Multiply 52x8
3¢ i+ H 52x8
416
3 Multiply 52x30
416 i+ H 52x30
1560
416
+ 1560 Add the products
1976 T4 R AR

52 x 38= 1976
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Multiplication Strategies xR

Expanded

Column Method
=3 &

e Line up the ones and the tens.
AL A AL A HE S| 2 5 6945 E
» Multiply the ones.

FFAZ B F AR
» Multiply the tens.
Az Ak
» Add the totals together.
T4 XA Am
42
x 6
12 (2 x 6)
240 (40 x 6)

252
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Multiplication Strategies &R

Column Method

3-digit x 2-digit carrying not show

— |k

TN R 32 0 34 R A4 5K

368 Write the numbers above each other in

columns.
x 24 SR &
308 Multiply 368x4
x 24 i H 368x4
1472
368
x 24 Multiply 368x20
1472 HH 368x20
71360
1472
+ 7360 Add the products
8832 R 2& X A m

368 x 24 = 8832
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Multiplication Strategies &R 5&

Column Method

4-digit x 2-digit carrying not show

— |k

T~ 38 35 69 445 R V245 3k

5368 Write the numbers above each other in
columns.

x 24 35 5 i AR
3368 Multiply 5368 x4
_x 24 it 5 5368x4
21472
5368
_x 24 Multiply 536820
21472 T+ H 5368x20
107360
21472
+ 107360 Add the products
128832 FreE X AaAm

5368 x 24 = 128 832
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Multiplication Strategies &R 5

Column Method

5-digit x 2-digit carrying not show

— |k

T F IR A7 69545 FOR VAAZ &K

25368 Write the numbers above each other in

columns.
x 24 E TP B 3 5 T
25368 Multiply 25 368x4
x 24 +H 25 368x4
101472
25368
x 24 Multiply 25 368x20
101472 1+ E 25 368x%20
507360
101472
+ 507360 Add the products
608832 o2& A8 He

25 368 x 24 = 608 832
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Multiplication Strategies &5

Column Method

6-digit x 2-digit carrying not show

— |k

T F AR AT 69 645 F IR VA4 &K

125368 Write the numbers above each other in
columns.

X 24 puIv Bk R
125368 Multiply 125 368x4
_x 24 HH 125 368x4
501472
125368
_x 24 Multiply 125 368x20
501472 i+ H 125 368x20
2507360
101472
+ 2507360 Add the products
3008832 K45 R A8 e

125 368 x 24 = 3 008 832
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Multiplication Strategies I&i&F5
Multiplying by 10
5 Fe A0

Use place value to work out how to multiply by 10.

16 B HED #4208 7 ik B b % 5 10,

674 x 10 =

If you multiply a number by 10, the digits move one place value to the left.
o R — AN HF R A0, INHRF IR EALT)— Iz,

Use zero as place holders.

JH R AMZ 6

674 x 10 = 6740

Use place value to work out how to multiply by 10.

1 Rl HED| 242869 7 ik H B #5410,

Use zero as place holders.

AR M

674 x 100 = 67 400
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N’ V10

Use place value to work out how to multiply by 10.

1% B HE S 2 A2 69 77 ik H b #0510,

6.74 x 10 = ?

If you multiply a number by 10, the digits move one place value to the left.

do R F — AN H 5 I A

Multiplying Decimals by 10

0, INKFWZREW LS —1z,

Hundreds & 1% Tens 4% Ones Mz Tenths T4 1% | Hundredths& %1%
6 o 7 4
Hundreds & 4% Tens+ 1% Ones /|~ Tenths+ %42z | Hundredths& %{=
6 7/ 5 4

6.74 x 10 = 61.4

Use place value to work out how to multiply by 100.

1 B HED| BAZ 89 77 ikt B 0 F e vA100,

6.74 x 100 = ?

Hundreds & 1% Tens+ 1% Ones/ ™% Tenths+ 4/ | Hundredths& %1%
6 o 7 4
Hundreds & 4% Tens+ 1% Ones /M= Tenths+ %42z | Hundredths& %{=
6 7 4 e

If you multiply a number by 100, the digits move two place value to the left.
S R — AR FRIA00, INRFOIERE® LA R,

6.74 x 100 = 674
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Division Strategies ik
Dividing by 10
255 VA0

Use place value to work out how to divide by 10.
1 Bl HED| B AL 89 75 kot - 25 FR A0,

If you divide a number by 10, the digits move one place value to the right.
da X — TR A0, ZANRF AR = B A — 1L

6.74 + 10 = 6.74

If you divide a number by 100, the digits will move two place value to the right.
da R —NRCF IR A00, ZANRTF AR R @G A4S P,

6.74 + 100 =

6.74 + 100 = 6.74
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Division Strategies &7k k=%

Repeated Subtraction
& 5 )

You can use repeated subtraction to see how many
times a smaller number goes into a bigger one.
IRT Mg R B eymisit B, WRAB DR TFEE

BRA) TR T T AR R K A9 5F

-3 3 -3 -3 -3
N\ N\ N\ N\ N

O12345617 8 9101112131415

The number of times you can take 3 from 15 is 5.
M5 F 309 R Z 0T EF A5,

15-3-3-3-3-3=0
15+3=5
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Division Strategies I'Ri*xH#%&

Grouping
S-S

20 divided by 5 gives 4 groups.
20 RVA 5 A 4 4

Grouping using arrays.
152 JF 4B [ L AT 2028
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Repeated Addition
Y 2 ik
28 + 4 =17

Draw a number line starting at O.
MOTT 45 3 — F R F K.
Count on in 4s until you reach 28.
¥R AFAN K TR, A P4 F|28,
Count how many hops it took.
H—TEEHRT %V Kk
28 divided by 4 is 7.
28 ThVA 4 FT 7.

O12 34567 8 910111213141516171819202122232425262728

<2
g9 REGENT STUDIES
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Division Strategies k&

Repeated Addition

(With remainders)

T 2 ok

(7 A 4 3%)
13+3=47r1
+4 +4 +4 +4
/\/W\

o 1 2 3 4 5 6 7 8 9 10 11 12 13

N S S S B B e

[
+1

Draw a number line starting at O.
MOFT 45 & — F R F K.
Count on in 3s getting as close to 13 as you can
but not going past it.

BRAINH TR, BRI BEA1ERARALTL .,
Count your hops to get the answer.
H—TEEHRT %V Kk,

And left over is the remainder.

) 3 89 0T T B 2
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Division Strategies %%k

Partitioning
T F

Partition the number into tens and ones.
TR 52 mAE T .
Divide the tens and ones.
o A B AR A AME FEAT IR i 1 5
Combine your totals.

J15 3] 09 25 BIL B 2 —ALT



https://www.regentstudies.com

Division Strategies %%k

Inverse

\\, "

3\3\,71-

Use multiplication tables to work out a
division question.

1% A R A T H IR A FAL
63 + 9

You can work this out by knowing...
RV DAARIE. .. 7+ H i i A

7 x9 =263

So using the inverse, we know that...
i FiZ2 8, &Msia. ..

63 +9 =7
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Halving

~ N2
P
Sometimes you can use halving to divide into

2s, 4s, and 8s.
A HAEARE B4 B F 09 T iEF RS 92—

We can use this divide by 4 by halving twice.
ho R T TR VAL SERAT VT VAT 7 R TR VA2,
120 + 2 = 60

then /A 5

60 + 2 = 30

so FTVA

120 + 4 = 30

We can use this divide by 4 by halving twice.
Qo R FH TR VAL AT VA S P9 R TR VA2,
120 + 2 = 60

then X =

60 + 2 = 30

then X =

30+ 2=15

so P VA

120 + 8 =15
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Division Strategies I'Ri*xH#%&

Short Division

Two digit numbers

bgIh ks B

7 i 3

@ [ ]
84 ~ 6 =7
Partition 84 into tens and ones.
& F 8455 Bk T A= ML

Work out how many 6s divide into 80 so that the answer is
a multiple of 10.

HHE L VA6 AARB0, KB AXAEER AL,

In this case the highest multiple of 10 divisible by 6 is 60.
KRB R KT BRI T A6, KLAL0E £60.
Partition 84 into 60 and 24 then divide each number by six.
FFEF 840 B R A F 604 F24, ARG AR A6,
Combine your totals.

FF R 895 KILE

10 + 4 =14
660 + 24

This mehod can be shortened to:
X FE 7 & VA A AR,

14
684

\
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Division Strategies &7k k=%

Short Division

Three digit numbers

bg b ks B

=45 ¥

434 + 7 = ?

Work out how many 7s go into 430.
(The answer must be a multiple of 10.)

HH B 4307 A S VAT ER . (R8T E ZRIAL0, )
In this case 7 goes into 430 sixty times leaving a remainder of 10.
4301% AT#5 2607 £ 2 10,

Add this 10 to the remaining 4 from the original 434 to make 14.
FAG3477 2 69 R K105 4404215 2] 14,

Divide 14 by 7 to get 2.
KT 1415 ATIF 52,

Combine 60 and 2 to get the answer.
FF60Fn24E S —ALIF B B

60 + 2
71430 +4 = 7|430 + 14

This mehod can be shortened to:
X AP 77 & BT VAR A AR,

62
71434
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